1L T—R TAS500GX/900GX =&k

P o i 4%

IEED selwa




SR anflfite

71 )LT—X TAS500GX/900GX =£{+E

0O

O

& | mE3—RK m B % #® ZE i &% X5
AA0053 |#1II-2 TA-500/900/ £ 1
00 436900 |TE#Etyb (TA500,900) 1 24,000(4/8 P
01 436100 |hhAyy 633FB1'1/2(TA500,900, il ) 1 3,960 P
02 436101 |TW 1'1/2PTF X 1'PTF({&E=H)(TA59,TP)| 1 2,520 P
03 831030 [7xA7fdi I M10 X 30 4 @ 120 P
04 862010 |V #EEE M10 4 @ 60 P
05 436102 |IM 1/2PFU X 1/2PTM(9#-M)(TKTA4,59,17)] 1 3,600 P
06 436103 |V 31VMi-2 (TA500,900,380) 1 10,800 P
07 436104 |[BA#R]T b (KA25)(TA5,9,JC100GL,150,200GLB) | 6 @ 1,080 P
08 862006 |\ #EEE M6 16 @ 60 P
09 850006 |7xAtyk M6 12 @ 60 P
10 830815 [7xAsufdi IM8 X 15 2 @120 P
11 862008 |\ 1EEZ M8 4 @ 60 P
12 436111 |ii ¥7 27- (TA500,900) 1 4,200 P
13 830835 |[/AAINfdi I M8 x 35 2 @120 P
14 436113 [1v¥ ¥A7- (TA500,900) 1 3,600 P
15 850008 |7xAtyh M8 2 @ 60 P
16 860008 |FEEE M8 2 @ 60 P
17 436201 [Ivba-lii yJA (TA500,900) 1 9,600 P
18 436200 [IVbA-IV #lEyh (TAS00) 1 19,200 P
18 439200 [IVhA-IN #lktyh (900GX) 1 19,200 P
19 436202 |Y¥3 (TA500,900,380,MP,PE3500) 1 2,500 P
20 436203 [Mv#1 b¥vy7 (TAMP,PE3500,MR6) 1 540 P
21 436204 [2ty7 2yF (TA500,900) 1 3,960 P
22 436205 |AJZiEfias/\-#Af¢ (TA500,900) 1 4,320 P
23 436206  [Ivho-IN %) (TA500,900) 1 3,960 P
24 806408 |V REEFEAHA /4 M4 X 8 8 @ 60 P
25 436684 |EAtv4- 500K(PEER,TA) 1 27,000 P
26 436122  |tV4-I v¥Y (TA,MP,PE) 1 720 P
27 401629 [¥ 31¥h 1/2PTM x 1/2PFM(09 75 7 4-) 2 @ 2,000 A3
28 401619 [¥ 31vh 3/8PTM x 3/8PFM(09 75 7 4-) 1 1,000 A3
29 436123 |ty4-A" -2 (TA500,200) 1 10,800 P
30 | 201702B |EAEYT-Y D#H350K(BEHA ,41V742EL)| 1 13,200 P
31 401663 |1k 1/2PFM X 3/8PTM 1 1,800 P
32 438753 |&E1y (3/8)(TA) 1 28,320 P
33 401616 [y 31vh 3/8PTM x 3/8PFU(06 74 7 §-)(TK,TA) 1 2,000 A3
34 830614 [7xAsfdi IbM6 X 14 4 @120 P
35 436161 |[HIf#EK vakyb (TA500,900) # 1 81,600 P
36 438704 |=#k (TA,PE3500) 2 @ 7,800 P
37 877301 |gt' ¥ M4 x 30 4 @ 60 P
38 | 436141IN |AE (#1)(TA500,900) 1 78,000 P
39 438726 iy - 100L(1'1/2) tyb 1 88,000 B
40 438722 |iw\ -FEDH (T - 100) 1 84,000 P
41 438724 iy -79D & (T - 100) 1 14,400 P
42 466609 |=#x 180(S30,60,MP) 2 @ 2,880 P
43 438729 i -M3v51'1/2 1 9,240 P
44 | 438726A [$¥29- SA-75R-S 2 @ 1,980 P
45 436100 |#hnyy 633FB1'1/2(TA500,900, i\ ) 1 3,960 P
46 435501 |E#Ek-Atyb 1'1/2 1 17,000 B
46 | 435501A |#Ef&Ef-abyh 1'1/2( WA ) 1 55,000(17 yaviifia#ltsk | C
47 435502 [T AN v¥v 1'1/2(hb0yY) 2 @ 600 P
47 435504 [770YN v¥y 1'1/2( hhayy ) 2 @ 10,800(47 yavitiaHtek | P
48 435503 [#h0yy 633C1'1/2( E#Ef-2) 2 @ 7,200 P
49 875051 |BH#EN VM 27 -51 4 @ 400 P
50 435594 [E#E-2DH (1'1/2 X 600) 1 3,120 P
50 | 435594A |EfER-2D&H (1'1/2 x 600)( fit&HH) 1 25,200|17 yaviits#Ittk | P
51 438771 |V5-Vik-2tyb (TA) 1 5,880/52-55 & P
52 | 402505C |[f1DF1=1¥¥ avb (PF1/2)(S20,30) 1 660 P
53 875025 |[H#EN VM 16-25 2 @ 180 P
54 438773 |V9-Uf-2¢ 12 X 900L(TA500,900) 1 1,860 P
55 438772 [V5-UN 47 (TA) 1 2,160 P

O=EMIICMPBELHMTT . =BT

XBFHTIHN, EXDEIF, I—

&
KNo& m&ZBHEE T

L\%’%T E

stiusn €38




F1ILI—RX TA-500GX RV FEB

aB anfffi i

D selwa




SR anflfite

F14ILIT—X TA-500GX RV 7&B
H& | mE3—F mE % # TEfifli i X5
AA0054 |94h1-2 TA-500GX/ i 7" &8 1
01 436001 |®AF+ybh (TA4,5,9,1709) 1 5,520 P
O] _02 436002 |[IRAFKKFEERYS (TA4,5,9,1709) 1 23,400 P
Ol _03 884045 |770Y 0 )¥7 G -45(TA4,5,9,1709) 1 960 P
O| 04 892016A |73t -I(1') (TA500,900) 1 10,000 P
O| 05 436003 |IRAFA7 V7 (TA4,5,9,1709) 1 600 P
06 436004 |IRAFK -Ih" 1N (TA4,5,9,1709) 1 4,800 P
07 436005 |if ¥7° ¥Y»¥ - (TA400,500) 1 62,400 P
Ol _08 884542 |770v 0¥y S -42(TA400,500) 1 1,060 P
Ol _09 436010 |MHFEERLY -tyh (TA400,500) 1 10,560 P
Ol 10 880018 |0V P-18 1 240 P
Ol 11 402009 |#&8fEiR -l (7/16)(HP21,24,25S £) 2 @8,400 P
Ol 12 436012 |mHF#27 Y05 (TA4,5,9,1709) 1 480 P
Ol _13 436026 |t AkvY»y" (TA400,500) 1 2,400 P
Ol 14 436137 |\ v#¥a)-7 1l (TA400,500) 1 4,800 P
Ol 15 436014 |t Akvy-IN v¥Y (TA400,500) 1 4,800 P
16 436017 |\ v¥y EEES (TA400,500) 1 2,400 P
17 436138 |\ y¥vaY-7 2\ -# (TA400,500 1 2,640 P
18 436018 |t akvOyh (TA400,500) 1 39,600 P
19 436020 | ¥7 \y¥ vy (TA500) 1 26,400 P
Ol 20 880042 |0Yy7 P-42(TA400,500) 1 480 P
21 888042 |\ yiry7 Uyy P-42 1 600 P
22 436028 |Ayh -\ yivEEZ (TA400,500) 1 2,640 P
23 436021 |Ayk ¥-IV v¥» (TA400,500) 1 5,040 P
24 | 436023N |ayh &' 4K #h5 - (FFN 7905 44 ) (TA500) 1 15,600 P
Ol 25 879025 |5 Ak~ 25(TA400,500) 1 720 P
26 436139 |mv7 Zy7 b 1/2(TA) 1 400 P
27 436140 |XALM ¥ 31vh 1/2(TA) 1 1,920 P
28 436030 |f1y7# a4 (TAPE3500) 1 5,400 P
29 436031 |Frys#i -l 1F (TA,PE3500) 1 3,600 P
30 436032 |f1yy#t v (TA,PE3500) 1 1,080 P
Ol 31 436033 |F1y9#27 Yy7 (TA,PE3500) 1 480 P
Ol _33 880021 |07 P-21 1 480 P
Ol 34 436034 |FryyFEERNY -tyb 1 9,600 P

O=EHNICRBDPBELRIBRTI , XBFHTIN IEXDERIF. I—RKNo & mBZBEL TS 55k BEVWLET,

seiua €8






